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2004-11-16, 100k, pads 1-32, CFD 1->ADC 1
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ENtes TO00Y
Mean 199
RMS 7.47

Integral 9.201e+0ft

nif_values._pad22 (-3488x<4088y>5.588y<5.7)

it

Values_pad20 (>3488x<4088y>-0.888y<-0.6)
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6.65|
Integral 9.164e+0

s Jvalues_pad27 {xo4088x<4688y>24 488y<24.6}

L values_pad21 (x>4088x<468&Y>5 588y <5.T)
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Integral 9.054e+0

Integral 9.535e+0|

300

RMS 3.76
Integral 9.818e+0;

svd sl sumd 4y
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alues_padi12 (-4688x<5288y>24.488y<24.6)

Integral 9.134e+0;

sonmd viued 3ol 1

its_values_pad1s {x>5288y>37.088y<37.2}
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ENTes TO00g0
Mean 254 4
RMS 4.86f

Integral  9.78e+0:




